—~——00LGeL
—00cELL

" hoEses

Gy 008YEL
—— 005522

paadg om]
1S 95 "oN

\ ¥

]

e ——

-

yaum Buyjiel-yes

I

00gbel—

009ge. —

0oseeL —
TO09T.Z

009zeL

00028.—=

00202 ——

515 7 AN il
00 Lvaiw

n
@
N
(=1
(=1

00ize.

Sail Handling by

.y ANDERSEN

Stainless Steel Winches

SERVICEKIT 3
FOR WINCH 56ST — 66ST

Manufactured by: Part. No. 710003
The service kit consists:
: : QTY. DECRIPTION PART. NO.
Fr. Andersens Maskinfabrik A/S 2 Pawl 33400
. 8 Spring 533500
DK — 7100 Vejle Denmark 4 Pawl 713200
8 Arm spring 713300
www.andersenwinches.com 1 Screw 722000
1 Circlip 716001
- . 4 Ball Stainless steel 724900
E-mail: info@andersenwinches.com 1 Lock pin 795402
1 Washer 536600
Sail Handling by 1 Circlip 724300
‘ 1 Circlip @40X1.75 DIN471-A2-A-A40
M ANDERSEN 1 Circlip @28X1.5 DIN471-A2-A-A28
1 Sealing RD100033

Stainless Steel Winches .
Please unfold the this page to see the

Complete Part List and Exploded View for
the winch.

Note! Variations can occur due to changes of
the winch specifications.



No. 66 ST
Two Speed
Self-Tailing Winch

G ———— 720200
§ — 722000

530100

530700
530800
530900

733000

530600

716000
531800

725900

723601

725900

725900

724200

RD100033

S 740700
713401
SS 6200-2RS
724100
724300
532200
SS 6201-2RS
532100
725402
SS 6201-2RS
532300
724900 ———
: 532400
713300 R
713200 —— @ ¢ 532000
J—— ; —— 713300
532600————§ - p TS—— 713200
U 40x1.75 R

SS 6200-2RS

740800



